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Question Paper Specific tnstructions

serq{fr'ftqfrRrEfrtqT

(i) All questions are compulsory

qrfrqs erFEidB

(ii) The number of marks carried by each question is indicated against it.

rfro yu +frqftqd :qs sqt q'rqt frq.rqt

(iii) Marks Allotted to each question from question no. 1to 20 is 10 marks

se {c;qr r t zo a-d, trAfr FJ + frq 10 3is'fud 3lr{ftdt

(iv) Word limit for each question is 200 words.

r&s qs of qrq Sqr zoo er< t r

(v) Questions are printed both in English and Hindi languages. ln case of .any ambiguity in

translation of any question, English version shall be treated as final.

qs eim rfuE-frffi rnqTeilfrEEdAAttfrffi rfrqs+ sEdmfrfrd fr orsuarfiqrq-&fr,

Gitfr €e-{q 61 siFdq qr+ wwn
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euestion 1. Swami Vivekanand is the spiritual father of modern nationalist movement. Elaborate (10)

EIfi fi ilo.n-< €fl gtr6 rTgq6 qrddr b ofl tlrFo. qa-dl I ART{ t ddTq

euestion 2. SardarVallabhbhai Patel isoneoftheprincipal architectsof lndianunity.Comment. (10)

qrilE6r+{dqtf, qrfiq\r+-dlbugtqq|E-rtnitqottMett

euestion 3. Bring out the differences between Moderates and Extremists in lndia's National Movement.

qndb{rfirnfrdqfrilqq0m3il$Rqqffmbfis3ld{dqrq}6frr ' (10)

euestion 4. lndia's demographics are an opportunity as well as a challenge to meet Nation's Viksit Bharat

goal. ln the light of the above, highlight the features and challenges of lndia's demographic

landscape.and rationale for setting up the Population Committee'

,*61qas1frr+ltqrbffiaqnaewolEtroribfrq\rr3ffwbsrq-sr{\rfigirfi$ttsqi-fib;fl-dtf
q,r,{6}saqtft rdqqtrssqoltrirsdrcisirgnm*ffi €srffi fr slenq+rbsifsq{q$MslifI

euestion5. How has lndia benefited from the contributions of Dr. M. S. Swaminathan in agricultural

science?

EREanfr Aqqnq EISilnbfrrrdit t+cddt*dIHE]ff h

euestion 6. A Uniform Civil Code in lndia is a necessity for empowering women. Discuss.

qtrdpilels{ffi ffi ribfr qqRdqsqqqntrd'€trdr(rrsndsrd-drtrqqlo'tr

Question 7. Fundamental Duties supplement Fundamental Rights. Discuss.

dlffo o't-q fi mo erffi b 5ot r 
qd of t

euestion 8. How has the physical environment influenced the development of transport

network in our countrY?

ftfr-6qqf{iq i 6cft t{r fr qft"-f,{ffi-b trfls81fu-s u-on qHIfuf, fu-qr Bz

Question 9. Suggest the ways to tackle the following problems

ftsfuRdd sErqrsil t Fq-c+ b stnq SSr(:

(a) lllicit drug trade and abuse in society

eriq rstrd aorsfr or qnnt 3i{ gwdq

(b) Child labour

EId {TI

(10)

(10)

(10)

(10)

(10)

(5x2=10)

(2)



Question 10. Do you think that the quality of higher education will be impacted by the entry of foreign
educational institutions in our country? Give reasons in support of your answer.

BTI 3fis +{a B fr 6c'f{ tcl i Etsfr mftur €effi } qarT t sq ftefi o1 gur-{f,r u*{rBd t}fi2 orqi
ut-*& qqdafronurfrMr

Question 1'1. Assess ti'" l.ol" of Archaeological Survey of lndia in preservation and promotion of
lndia's cultural heritage. (10)

qrd 61 HiVft -6 trcrsd il €{eM rir vetfq fr qn-fi q gnaa sileu +1 {Eor or en-+-e-t of r

Question 12. Air pollution is one of the biggest problems in major urban agglomerations and costs
thousands of lives every year. ln light of the statement, elaborate the mitigation strategies
for emission control in lndia.

rrgs rriler s{d fr qtg q-{qur €-{$ E-S sq-*qrefr C i qo. Bpfu cr- srd Erqr$ ff o1 qra qfr qrfi t r

6?fi +' ff-d-6 E qRd C tsffifi Fq?nT & frS srqt rsrfim o.r tr<.n t Euh olBq r

Question13' lndia's soft power and cultural diplomacy provide the requisite strategic impulse to unlock
lndia's potential as a global power. Discuss.

ura +1 fr qrn sir sffid-+. E--frfr \1o. tfyo. qrk b sq fr qrd o1 src-dr 61 sqrrR E.{i b frq
srEfErd{urfifrdr enilrq-il{6-{frtI q-qf of r

Question 14' Belt and Road lnitiative (BRl) is an effort to improve regional cooperation and connectivity
on a trans-continental scale. But, it is a debt-trap. Do you agree? What are the reservations
expressed by lndia regarding BRI?

ilcz\rsn-sEaRl@qtdurnuns Biili-q-drfifiqffiqi*fiqsofrrroirolpE6Ot-eatc+liolqroqqrs

triBrt,q6\r6'T'ul-qrdttwrsfiq Es 6pH t sdc-dfi? BRlqia-6{qRdt@rr{rqfdqivddt,

Question 15. Bring out the co-relation between growth, development and inclusive growth. Trace the
strategy of Niti Aayog for inclusive growth in lndia.

EE, tro'rs olrt w+6qn 6-o & fiq so-gaE al s-qFn st r qrd fr sffaqfr lf,ors b frq frfr onfrl a
wrfrfrqrs'-{rqrsrfrqr

Question 15. How does watershed management contribute to economic development and
social well-being in lndia?

qo€trt misn qr.d fr c{rft+. fu+-rs rfu srqrffifi o.-flM fr ?, ftEH tdr B,

Question 17' What is Aaditya L-L? Underline the significance of this mission in the field of space science
and technology,

.inFo\rd-rwrfu eiaft aElrqqiiutdmdh&fr qsfi q1fi q5solieiB-ootr

(10)

(10)

(10)

(10)

(10)

(10)

(3)

(10)



Question 18. lndia's future will be significantly determined by Artificial lntelligence. ln the light of this
statement, discuss the various initiatives taken by lndia.

Hrrd 6-r qBq or+t e< ilfr g{rEmRiq-d €tRrBe aRI BEnro frqt qrqrn gs E rfi } eno}-o C rnra

trRT of G frflm qrd a1 qqf sflBrq t

Question19.The distance (in miles) of 40 doctors from their residence to their hospitals were found as

follows: (5x2=10)

+o d'd b' en-cm t glb srg-drdi of ffr tfo S rs u-+.R qri'd,

(Distance ln miles)

Construct a grouped frequency distribution table with class size 5 for the data

given above taking the first interval as 0-5 (5 not included).

qei eiarre ol o- s (s fllfd rdb }. sq fr t} Eq sw l?q qs 3a } its E f el6n s }. qru

q+. q*1-6o orqft liarur arlilor a-+( r

What main features do you observe from this representation?

gs $wflorq trd-qur t 3fiq +lq dt Tc* 1i"fu6191 * Blqqpr 6-G tz

Question 20. The length of 40 leaves of a tree is measured in millimetre and the obtained data is

represented in the following table: (5x2=10)

\1+. EE e't ao cRfr e1 dEtt ffilfrrt C cdl qldl t sh qrd s{i6d,i o'} fisltffid arlil+r C Eqrfqr rrqr t:

Length (ln mm) Number of leaves

118-tZ6 3

727-135 5

t36-t44 9

145-153 72

154-762 5

163-777 4

772-180 2

(a) Draw a histogram to represent the given data.

l?q w .riosJ oJ qclfi b ftq \16' lBr<lqH eqr( r

(b) ls it correct to conclude that maximum number of leaves are 153 mm long and why?

4qr qE ltwd limmrr sdt t lfi qliq'l dt qnfif,c dsr 1 s3 li{l lidl t sirr Eq'lz

(10)

(a)

(b)

5 3 10 20 25 '1 
1 13 7 12 31

19 10 12 17 18 11 32 16 2

7 9 7 8 3 5 12 15 18 3

12 14 2 9 6 15 15 7 6 12

(4)


